An Assi.gnment Problem

. -Scott and Assocmtes Inc is an accountmg firm that has three new chents Pro;ect lead- "
ers will be assigned to the three clients. Based on the different backgrounds and experi- -

_ences of the. leaders, ‘the varjous leader-client asmgnmems differ in terms of pro;ected_ L

; 'compleuon umes The posmblc ass1gnments and the estlmaled compleuon tunes m S
_ days are . _ R .

a. Develop a network representatlon of tlus problem R S R
b Formulale the problem as a linear program, and solve. What 1s the total t.lmc reqmred‘? ;o

A Network Representation
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